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CH. 12 - MONOPOLY

CONCEPT: CHARACTERISTICS OF MONOPOLY

o A market is a monopoly when:

O Nature of Good: The goods for sale are

- No close substitutes

O Setting Price: The sellers are

- Only in the market

- Market power — the ability of one person (or group) to have substantial influence on

O Entry and Exit: Entry to the market is by barriers to entry.

O Example Product:

e Barriers to entry make sure that a monopoly remains the only producer in a market:
O Ownership of Key Resources

- De Beers controlled substantially all diamond mines for a long period of time.

O Government Regulation

- Patents give the owner the right to produce a good for twenty years.

O Economies of Scale

- Natural monopoly — Large economies of scale make it cheaper for one producer to supply the good

$

Electricity
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e The demand curve facing the monopoly firm is to the demand curve for the entire industry.

Market Demand

P
Q
Monopoly Firm’s Demand = Market Perfect Competition Firm’s Demand
P P
Q Q
Monopoly Firm Perfect Competition Firm
Demand Curve > Demand Curve >
Increase Output > Increase Output >
P=AR P=AR=MR
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PRACTICE: Which of the following is NOT a defining feature of monopolies?

a) Diseconomies of scale
b) No close substitutes

c) Influence over price
d) Barriers to entry

PRACTICE: Which of the following is LEAST likely to operate as a monopoly?

a) A pharmaceutical company with a drug patent
b) The sole owner of an occupational license

c) Astorein alarge shopping mall

d) The holder of a public utility franchise

PRACTICE: A patent

a
b
c
d

Guarantees quality to consumers

Grants an exclusive right to an inventor of a product

Allows someone the right to practice a profession

Gives the owner legal control over a unique source or supply of raw materials

)
)
)
)

PRACTICE: A distinct characteristic of a natural monopoly is that

a) Legal barriers to entry form its existence

b) It has no close substitutes

c) lIts average total cost curve slopes downward as it intersects the demand curve
d) It faces a downward-sloping demand curve
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CONCEPT: MONOPOLY REVENUE

e A monopoly faces a

O Price effect — The firm earns

O Output effect — The firm earns

demand curve. A price decrease has two effects:

revenue per unit sold because of the price decrease

revenue because it sells more quantity at the lower price

e A monopolist's marginal revenue is always than the price of the good
EXAMPLE: A market for cable subscriptions
Subscribers | Price | Total Revenue | Average Revenue | Marginal Revenue
Q) (P) (TR=PxQ) | (AR=TRQ=P) | (MR=ATR/AQ)
0 80
1 70
2 60
3 50
4 40
5 30

1 2 3 4 5 Q

PRACTICE: Which of the following statements is true?

a
b
c

)
)
)
d)

A monopoly’s marginal revenue is less than its average revenue.

A monopolist's demand curve is more elastic than the market demand curve.
For a monopoly, an increase in the quantity sold will always increase total revenue.

The barriers to market entry in perfect competition are similar to those for a monopoly.
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CONCEPT: PROFIT ON THE GRAPH

e The profit-maximizing quantity will always occur where

O Profit-maximizing could also mean
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MC

emand = AR

MR

e The profit or loss is defined by the following formula:

Profit = (Price — ATC) * Quantity

Step 1: Find profit-maximizing quantity where MR = MC

Step 2: Find Price (on Demand Curve) and ATC at that quantity

MC

ATC

Demand

MR

ATC

Demand

MR
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PRACTICE: Use the graph to answer the following questions.

MC

ATC

MR

The MR curve lies below the demand curve in this figure because the:
a) Demand curve is linear
b) Demand curve is highly inelastic throughout its full length
c) Demand curve is highly elastic throughout its full length
d) Gain in revenue from an extra unit of output is less than the price charged for that unit

The economic profit can be found by multiplying the difference between P and ATC by quantity. It can also be found by:
a) Dividing profit per unit by quantity
b) Subtracting total cost from total revenue
c) Multiplying the coefficient of demand elasticity by quantity
d) Multiplying the difference between P and MC by quantity

This pure monopolist:
a) Charges the highest price it could achieve
b) Earns only a normal (accounting) profit in the long run
) Restricts output to create an insurmountable entry barrier
d) Restricts output to increase its price and total economic profit

At this monopolist's profit-maximizing output:
a) Price equals marginal revenue

) Price equals marginal cost

) Price exceeds marginal cost

) Profit per unit is maximized

o O T
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CONCEPT: EFFICIENCY AND DEADWEIGHT LOSS

e A monopoly produces than the efficient quantity to increase its profit.

O This underproduction causes a

| MC Perfect
Competition Monopoly Change
Consumer
""""" ! Surplus
__________ Producer
: : Surplus
___________ ! Total
Surplus
L\ D Deadweight
O\ | Loss
i MR
The effects a monopoly has on economic efficiency
e Quantity: The monopoly quantity is always than the competitive quantity.
e Consumer Surplus: Monopoly causes a in consumer surplus.
e Producer Surplus: Monopoly causes a in producer surplus.
e Deadweight Loss: Monopoly causes a deadweight loss, which represents a loss of
O Productive Efficiency — producing at the
- The lowest possible cost is
- Monopolies produce along the downward-sloping part of the ATC curve - productive efficiency

O Allocative Efficiency — production represents

- Producing up to the point that the =

- Monopolies produce less than the efficient quantity >

allocative efficiency
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PRACTICE: Use this graph to answer the following questions:

M

1 ;
M
. E\D

0 20 40 B0 &0 100 120
Quiarity (lickes per hour)

Price and costs (dollars per tickes)

An unregulated monopoly will sell:
a) 30 tickets
b) 50 tickets
c) 60 tickets
d) 100 tickets

If the monopolist’s fixed cost is $25, the monopoly’s total costs when maximizing profit is:
a) $35
b) $45
c) $85
d) $145

If the monopolist’s fixed cost is $25, the monopoly’s total economic profit when maximizing profit is:
a) $0
b) $20
c) $45
)

d) The monopoly is incurring a loss

The deadweight loss created by the monopoly is:
a) $0

b) $22.50

) $45

) $90

o O
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CONCEPT: PRICE DISCRIMINATION

e A monopolist who charges to all its customers is a single-price monopolist

O Price Discrimination — selling the good to customers at prices

O To practice price discrimination:

- Market Power: Must be a monopolist, or possess the ability to control

- Market Segregation: Distinct classes of customers with different willingness to pay

- No resale: Customers cannot resell the product

EXAMPLE: Macrosoft sells its computer software to two groups of buyers: small businesses and students. Students are
more price conscious, and thus have a more elastic demand curve. For simplicity, assume ATC is constant and MC = ATC.

The monopolist can increase profit by charging a higher price to small businesses and a lower price to students.

Small Businesses Students
Economic profit
A
Economic profit
Demand
MC = ATC
, \ ! MC = ATC
MR Demand ; MR
O Perfect Price Discrimination — Charging every customer their willingness to pay
Single Price Monopoly Perfect Price Discrimination

MC =ATC

Demand Demand
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O Examples of Price Discrimination:
- Movie Tickets: Cheaper tickets for children; matinee pricing
- Airline Tickets: Higher prices for business travelers; Lower non-refundable fares for leisure travelers
- College Tuition: High tuition prices for rich students; low prices (with aid) for poorer students

- Quantity Discounts: Lower prices on second unit captures lower willingness to pay for extra units

- Discount Coupons: Customers who clip coupons have lower willingness to pay

- Computer Software: Student Edition vs. Professional Edition

PRACTICE: Use the demand schedule to answer the following questions:

Demand Schedule For a Perfectly Price Discriminating Firm
Price $8 |$7 (%6 |85 | %4 [$3 [$2 | ¥
Quantity |0 |1 2 |3 |4 |5 |6 |7

If the firm’s marginal cost is constant at $3.00, output for a perfect price discriminating monopolist is:

a) 2units b) 3 units c) 4 units d) 5units

The marginal revenue for the perfectly price discriminating monopolist from the sale of the third unit is:
a) %6 b) $5 c) $4 d) $3

The total revenue for the perfectly price discriminating monopolist from selling five units of output is:
a) $5 b) $15 c) $18 d) $25

I the firm’s marginal cost is constant at $3.00, the perfect price discriminating firm will charge each customer:
a) $3 b) $5 c) $8 d) A different price
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e Antitrust laws limit the market power that monopolies can gain. Some relevant U.S.A. statutes include:

O Sherman Act of 1890: Prohibited collusion and price fixing

- Collusion — an agreement among firms about quantities to produce or prices to charge

O Clayton Act of 1914: Prohibited from buying competitors’ stock or serving on competitor’s board of directors

O Federal Trade Commission Act of 1914: Created the FTC to help enforce antitrust laws

O Robinson-Patman Act of 1936: Prohibited price discrimination that reduced competition

O Cellar-Kefauver Act of 1950: Prohibited mergers that would reduce competition

- Merger — two or more firms becoming one firm

e The government can also regulate the prices monopolies can charge using

Socially Optimal Price: Fair-Return Price:

\

ATC ATC
"""""""""" >< He e
\ i D \ | D
MR | MR |
- Maximizes efficiency and total surplus - Less deadweight loss than unregulated
- Could result in losses for the monopoly - Monopoly earns zero economic profit
- No incentive to minimize costs - No incentive to minimize costs

Page 12






